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Answer key

Standard 8- Set-B

(i Choose the correct answer
Questionno | Tamil medium English medium
1 @)E6U SIM6ETS SILD All of these.
2 360° 360°
3 28p’ 28p’
4 20% 20%
5 20 Q&5 20cm.
(ii) Fill in the blanks:
6 -25/39 -25/39
7 s T
8 1 1
9 52 52
10 @ & MG & IT6UoT (LN 85 G & IT600T LD. Right angled triangle.
(iii) True or False
11 SHeuml False
12 SHeuml False
13 Elﬂ True
14 &l True
15 Elﬂ True
(iv) Match the following
16 Mr? Mr 2 sq. units.
17 -10a -10a
18 (WH HTHLGD) First quadrant
19 8 8
20 G eerfl. Origin.
Part-B
(v) Answer the following:
21 The decimal form of 13/4 is is 3.25. 13/4=3.25
22 ITo compare rational numbers % and 5/6 we convert

them into decimals we get into decimal form
respectively 0.75 and 0.83 Thus %< 5/6

% HDID 5/6 QUGG ISHE ST HF eulgeub (WeomBw 0.75 whHm)

ereo1@6 %< 5/6

Y= V(342-309)= V256=16.

23 0.000227 0.000227
24 1 1
25 F+V-E=4+4-6=2 F+V-E=4+4-6=2
26 L =2 X2mr = 5x2mx35=350m cm?, = 0 x2mr = 5X2mx35=3501 Q &.L52
27 10xy-15x. 10xy-15x.
28 -3x2yz3. -3x2yZ3.
29 450
450 X=—X 100 = 75
X=——X 100 = 75 600
600
30

Y= V(342-302)= V256=16.
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31 Principal (P) = ¥ 3200
r=25%p.a .
SiFev (P) = X 3200
n = 2 years comp. annually )
=N r=2.5% p.a
~ Amount (A) = (1 i _)
100 n=2
2 . 5 2
= 3200 (1 + +55) ~asmee (A) = (1 4 L)n
5 2 _ an 100
= 3200 x (1.025) = 3362 25 \2
v = 3200 (1 + 5)
Compound interest (Cl) = Amount - Principal -
= 3200 x (1.025) = 3362
= 3362 - 3200 = 162
Ci= A-P
= 3362 — 3200 = 162
32 X+50°+80°=180° X+50°+80°=180°
X=50°. X=50°.
33 20. 20.
34 2032 = 41200. 2032 = 41209.
Part-C
35 5| 10.5 4,20
LCM of 10,5,4 and 20 is 20. N e
5 10,5,4,20 A
 ENR 17 17x2 _ 3
2iLLZ2 10 102 20
L1 -7 Tx4 -28
-7 -17x2 _ -34 S sxa 20
10 10x2 20 -2 -2xS _ -10
=1 Ix4_-B8 2 7 Taxs 20
5 Sx4 20 tF - oa
2 _ caxs_ -l "’ o
4 4x5 20 gm auflensulled
9 19
20 20 -34<-28<—-19<—-10 <0
Megative numbers are less than zero. 34 _ -8 _-19 _-10
~ Arranging the numerators we get 20 20 20 20
-17 -7 _ -19 2
-34<-28<-19<-10<0 9D AflDFUlD) = —== < —= < == < ==
-34 =18 =19 -10 . y - - -7
. _ﬁ E < E < Ec{} @mnieaflamaulla 0> T— . :l(:’ T >
Ascending order = :IITT < _?T < ;—I; < -Tz =0
=2 <19 ST
Dt:sr.cﬂdmgur&erﬂ)T-‘»—:a-. >0
36) 36)
Cube root of 24x36x80x25 60T eLNGULN = 24x36x80x25
= 3 x2x 2x 2x 5 =3 x2x 2x 2x 5
= 120. = 120.
37)
Area of the figure = Area of the semicircle of radius 3 cm + 2 (Area of triangle with b = 9 cm = (l)m‘l) . (2 X .l)bh]
andh = 3 cm) =] Cmero win Q2
(im"] F(2 -‘%bh)sq,uncs Nt Sl AL A At B
:%x}}.ﬂr}(}quxl_[)x\}(}i[m: :-D—\?:E': "]“‘1'1:3':‘:‘“"-::. QE.USQ
: b—f’ + 2T emd= 1413 + 27 em? = 4113 em?
« Area of the fiqure = 41,13 ot (approximately)
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- | 1730 100 |% =10%
| 17500 !

38 — _— -6x°y“z®
Product is -6x5y4z3
39) gy—Bxy+1. gy—Bxy+1
40) Com oo U
e gjemeudlo Bubdlrddlen Aunss sLés elama
Total C.P of the washing machine = 56 sloe) + @508 Qecrays
= C.P + Overhead Expenses = 16150 + 1350 =217500
= 16150 + 1350 = 17500 efjueoan elsoa = 719250
SF =192 s, iusnen efleos) > &1L56 el 2. &50a, Brivg Banubd giuGdng.
Here, 5.P = C.P. Hence, there is a gain.
oo \ - \ Lo, |Bemid 19250-17500 1750 } R
. Crcrin bo, _ [ 1925017500 " Baomuad % = | == x100|%=| ————x100{% = | =—=x100{%=10%
Gain % = TP XI[H}J -n—| WK“][]J Yo "7 ad { ( 1750 17500

41)

Radius, r= 7.5 cm and n = 6.

Area of each of the sectors, A=

By, r = 7.5 6815 hmib n = 6.

l ;
aul L &Gansomy LugSulsir upiuetey, A=~ X mr
f

=éxrr><7.5><7.5

=9.37571 e&lb?

42)

= : 2
Diff between CI and SI = P( T )

r N
20 = 8000 (Ea)

(505 - (5% )

Gl
[100]_400 (56
r 1
100 = 20
100
20

]Z

r

z
2 sysioBEEDES, C1 — S1=P (ﬁ]

20= 8000(r/100)2
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43)

Ve

>
P 5cm Q
Answer:
In APRQ and APSQ
£PRQ = £PSQ = 90° given
PR =05 = 3 cm given
PQ =PQ ="5cm common

It satisfies RHS criteria

~ APRQ congruent to AQSP.

APRQ & APSQ
£PRQ = £PSQ = 90° Q&m@&suucL soa
PR=QS=3cm
PQ=PQ=5cm
G5 hmLh SAS-6iT LG
~ APRQ E 1+ AQSP.

44)) £z+140°=180°

Clearly £z=40°.
In triangle ABC 70°+z°+y°=180°
Thus y=70° and x=70°

£z+140° = 180°

21,6085 L6V 22=40°.
(P &C&MevoTLD ABC -6V 70°+2°+y°=180°
6TeorGeU y=70° LoMMILD x=70°

(Any related answer is acceptable).

46)
4 2
4 2 s e
4 (1764 16 - -
16 B2 | 64 1§
82 | 164 | 1 64 .
164 0
0 V1764 = 42
V1764 = 42
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Part-D

47) a

47)b

Given ABCD, AB =5cm, BC=45cm, CD = 3.8 cm, DA = 44 cm and AC = 6.

Romgh Diagzram

SamacheerKahd, Guide

Steps:

* Draw a line segment AB = 5cm

* With A and B as centers drawn arcs of radii 6.2 cm and 4.5cm respective
let them cut at C.

* Joined AC and BC.

* With A and C as centrers drawn arcs of radii 4.4cm and 3.8 cm respectivy

Let them cut at D

Joined AD and CD.

* ABCD is the required guadrilateral.

Calculation of Area:
Area of the quadrilateral ABCD = % = d = (h11 + hz) sg. units
=1 x62x(26+36)cm?=3.1x62=19.22cm?

V
il /

B Tcm o
Fig. 5.45

Steps:

1. Draw aline segment BO = 7cm.

2. With B and O as centres, draw arcs of radii 10cm and 6cm respectively and let them cut at A.
3. Join BA and OA.

4. Draw AX parallel to BO

5. With A as centre, draw an arc of radius 6cm cutting AX at T.

6. Join BT. BOAT is the required trapezium.

Calculation of Area:

Areaof the trapezium BOEE = —x/ix(a+ b) squnils

b | = b | =

%5.9%(7+6)= 38 355g.cm

48)a

-

3 456 78 910

48)B

First quadrant-(5,3)

Second quadrant-(-6,7),(-3,8)
Third quadrant-(-2,-4)

Fourth quadrant-(4,-1)

=]

-+ (-3.8)

7)

S

—

[ R & < 1]

>l

|
X
r
—_— W
— U
|

4, -1

3
4
,—4) 5
6
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